2022 R = EERCOR—R"EZBEELA)

1.

aﬁ%%ﬁd’:{x|(x+2)(x—2)éﬂ}’ N={x|x—1c:[l}’ m“MﬂN:( )

A) {x |—2<x <} (B) {x |—2<x <I! (O){x |—2<x <I} (D)ix |x <—2}

2.

_ 1
El%if(x)— m ﬁ)‘(ﬁﬁﬁi] ( ) (A)(2,+m) (B)[2,+DD) (C) (—L‘D,z) (D) (—00,2]

3.

5

ELAN R R B AL, E%ﬁcﬁ_L () (A —2 (B) 2 (C)i—2 (D) 2+i

4
SH AT AE, HAIERRARR (9
(A) Hr e AEME, We, ¢ HEmE

B) < x=4 Hr=2, MearZCR 8 BapR By <6, Mxq Hy<a2”

1
(C) &FHx #300°, Nlcosx #3

(D) R 3x  oRa e 20 AR AT E

1 E

4
EgnAs (¢ m | andeosd=5, ManéfER () (A) 3 B) ¢ (O

Ia] L
RS

(D)

6.

EAIETELLH S (o, HIED BAAS, » HS 3=2a 3—a |, MZBSIKALR D

1 1
(A)2 B): (C)4 (D) 4

7.

PATEE IR ER, WHH - C ) (A) 1023 (B) 512 (C) 511 (D) 255



